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Use multiplication rules to determine the missing remainder for each problem.

1) 66÷2 = 33 r     0      2) 55÷10 = 5 r     5      

3) 630÷2 = 315 r     0      4) 2,091÷2 = 1,045 r     1      

5) 4,211÷2 = 2,105 r     1      6) 3,428÷10 = 342 r     8      

7) 2,506÷5 = 501 r     1      8) 70÷5 = 14 r     0      

9) 550÷2 = 275 r     0      10) 27÷5 = 5 r     2      

11) 6,488÷5 = 1,297 r     3      12) 8,066÷10 = 806 r     6      

13) 24÷5 = 4 r     4      14) 33÷2 = 16 r     1      

15) 58÷10 = 5 r     8      16) 29÷2 = 14 r     1      

17) 99÷2 = 49 r     1      18) 79÷10 = 7 r     9      

19) 881÷10 = 88 r     1      20) 9,355÷5 = 1,871 r     0      
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